Task 15 - Generate Collection of Compositions

In this task, I experimented with the different parameters of the genetic algorithm to see what
effects it has on the sample generation. Unfortunately, I did not do a lot of sampling due to time

constraints and fatigue. The experiments below took a few hours to process (due to messing with

code and the time it takes to listen to samples). I discuss my interpretation of these results in
more detail in the following task.

The Experiments

Album Name (as suggested by ChatGPT): Synthetic Soulscape
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Melody 1: A2 A
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Not sure if there
is much a
difference
between the user
guided samples
and the random
samples besides
the mutation
going out of
control and
making the
second melody
much longer than
the first one
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-I accidentally
closed CLisp and
lost the sample-

The
aforementioned
issue of
convergence is
really an issue of
a lack of
noticeable
variation. With a
smaller beat-total,
the mutation feels
much more
prominent and
makes the sample
feel new. In large
samples,
changing a single
note is rather
unnoticeable.




